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Name: _____________________________  Date: _____________________ 
 

PART A 

 
Find the product of 624 and 8. Then, subtract 3 hundreds + 9 ones. 

 

 

       Show your work and enter your answer in the space provided. 

 

 

 

 

 

 

 

 

 

 

 

 

 

PART B 

 
What is 23 hundreds + 8 tens + 6 ones rounded to the nearest ten and then divided by 5? Show 

your work or explain your answer. 

 
 

              Enter your answer and explanation in the space provided.  
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ANSWER KEY 
 

Rubric Part A 
Score Description 

1 Student response includes the following component: 
 

• Computation component = 1 point 

o Correct answer, 4,683 

 

0 Student response is incorrect or irrelevant. 

Rubric Part B 

Score Description 

2 Student response includes the following 2 components: 
 

• Computation component = 1 point 

o Correct answer, 478 

• Reasoning component = 1 point 

o Valid explanation of how to find the correct answer. 
 

Sample Student Response: 

“The correct answer is 478. 23 hundreds + 8 tens + 6 ones is equal to 

2,386. 2,386 rounded to the nearest ten is 2,390. 2,390 divided by 5 

equals 478.” 

 

NOTE: other valid responses are acceptable. 

1 Student response includes 1 of the above elements. 

0 Student response is incorrect or irrelevant. 
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